ALGEBRA 2 NAME Key

Chapter 10 Review

“TSORMULAS:
Arithmetic: #(n) = change(n—1)+1st term  Sum= -;—(lst +last)

° n__
Syum = Lst termechange” —1st term Sy = Lst term

Geometric: #(n) = 1st termechange™
eometric: 1(n)=1st termechange change—1 1-change

Show your work.

Find the nth term of each arithmetic sequence:

1) 1stterm = 13, change = 11.75, n =12 2) 185, 177.8,170.6...,n = 29
()= 13+ 1176 (n=1) (n) =185 -7.2(n-
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3) Find the 17t term in the arithmetic sequence 7,29, 51,.
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~4) Find the missing terms of the arithmetic sequence 35, 9}3 v , @F , 98

5) Find Sum for the -arithmetic sequence 15t term = 13, 2" term = 21, n = 42
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7) Write the following series in 3|gma notation: -28, -19.75, -11.5, . oo A
t(n)=-28+8.25( Z»zg +8.25(h-)
= |

—8) What is the last term of the arithmetic series in which n = 37, the 1% term = 19 and the
sum = -16287
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9) Find the number of terms of the series where the 15t term = -38, the last term = 221 and

the sum = 6862.5. 37 VLAY
802.5 = (35 4 221)(%2) HP2)7(3) |
08625 = (163)(2) (75 =n) a
10) Find the next 3 terms of the geometric sequence: 125, -50, 20, -8 ,3.2,-1.28
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11) Find the nt" term of the geometnc sequence 1st term = 8, change = -3, n =12
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12) Find the10 term of the following geometric sequence: —, —, 6, . . . (do not round)
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13) What term number would 201,326,592 be in the geometric sequence whose 15t term = 3 and has .~
achange =27 (= 7. t(n) 1)
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14) Find Sum for the geometric series: 1%tterm = 2.25, change=4,n=7
tn)= 225 (4)! &(1)= 36864 —2.25
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15) Find the sum of the geometnc series: 26( -3y*!

th) = 663) = g(e) = 21886460
=1 - “’“3% ‘
L) = (3) ' = —106288L , ey
> , 13- f&%ﬁfét@o (»_-7q7“oQAX
t03)=603)" = 3188646 -2
16) Find the sum, if possible, of the infinite geometric series 1024+896+784+....
- (BQ 2 - 2 j&‘g@ AN
= 1629 8 S = W

1ezd =l Q19e.

e
[ .




71

17) Given a bouncing ball that travels 16 inches up on the first throw and bounces 85% of the

previous height after each bounce. A N
. a. Find the total dlstancegup and down) after 14 bounces. , fg \ \
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b. Find the total distance if the ball were to bounce an mﬂnlte number of times.
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18) Expand (3x— 5)6 using the Binoimial Theorem ;“l (Mﬂgug,;g% %2&; L 15a0b 4"(@@13:3 + g
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19) Find the 13 term of the expansion of (2x—3)%.
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125970 (2x) (¢3) zg 171380794 29,120 xgl

20) What would the balance be if you invested $38,850 into an account that earned 4.75%,
compounded monthly, for 8 years? 128
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21) Find the difference between the balances of accounts that earned 5.5% interest, where one
account compounds monthly and the other compounds continuously, for 12 years.
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< Make sure to review loganthms solvmg for the terms of a parabola w1th a system of 3 variables. v‘A’
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